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Let 1, , nY Y  be independent identically distributed with mean ( )iE Y = µ and ( )iV Y =  σ2. 
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 Then the distribution function of nU  converges to 

the standard normal distribution function as .n →∞ Let 1, , nY Y  be a random sample 
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Uniform (a, b), Var(Y) = (b-a)2/12. 
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MSE(θ̂ ) = Var (θ̂ ) + (Bias[θ̂ ])2.   
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 Factorization criterion: Let U be a statistic based on the random sample 

1, , nY Y  . Then U is a sufficient statistic for the estimation of a parameter θ if and only if the 
likelihood 1( ) ( , , )nL L y yθ θ=   can be factored into two nonnegative functions, 
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ANOVA table for a one-way layout. 
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